B AYKEIOY AATEBPA
w8y

. 3
0 o WD@=nu(n—X)+"”g_xj+nu(n+X)+nu[7n_xj

T 3n
np(r—x)=npx , nu(E—X}cmvx , (X )=—npx nu(7—XJ=—tmvx

= NUX + GVVX —NuX —ovvx = 0=’ pélog

nu(z—x)=n

a<p(
o

nu(180°—x)-8(p(270°+x) o9(2n— o —egx npx-(—c(px) __ MEX-oex ;H:cf-ccpx — 60x

nr(90° —x)-£9(360° — x) oovx-(—eQx) oo ;P; K

owv(8n—) = ovv(-0) = cuve

o] —n+(o = oLV 8_1r+ +0 |=ocuvv 411:+ +0 |=ovv +c0
?\ 2 2 2 2 2 TTHE

ep(13n+0)=ep(12n+n+0) =£p(n+0) = €00

11n 10t = T
OUWV| —+® |=0VV| —+—+® [=0VV| ST+ -+ =
2 2 2 2
T T 3n
=cmv(4n+ﬂ:+§+coj=Guv(n+§+coj=cmv(?+mj=num

6¢(19n—w) =09 (18n+1—0) =00 (1—-0) =—000

37—“—0) = ﬁ+E—(o —nu| 181+ Z -0 |=ny| Z-o |=cvvo
= L B nH 5 5

|

+XJ —GOX

N\a N

X] GLVX




